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The figure shows a top view of a thin rod of mass M =2.0 kg and length L = 2.0 m which can rotate
horizontally about a vertical axis through the end A. A particle of mass m=2.0 kg traveling horizontally

with a velocity vi= 10 j m/s strikes the rod (which was initially at rest) at point B. The particle

rebounds with a velocity vi=—6 jm/s . Calculate the angular speed wfof the rod just after collision.
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A solid sphere of mass M = 1.0 kg and radius R
rad/s (see the figure). A hoop of mass m=0.10 kg a
to it in the middle exactly,

Calculate the angular speed of the whole system about the axis just after the hoop sticks to the
sphere,

= 10 cm rotates about a frictionless axis at 4.0
nd radius R =10 cm falls onto the ball and sticks
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A 2.0 kg particle is moving such that its position vector (r) relative to the origin is
r=(-2.0%i+3.0tjm.
(a) What is the angular momentum of the particle att = 2.0s7
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(b) What is the torque (about the origin) acting on the particle at t = 2.0 s?
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